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A Bl A = 1 B X
& 4 5 6 7 8 9 10 11 12 1 2 3 & OB (%)
L | 6,732 6,818 6,539 6,969 7,015 5,656 6,801 5,392 6,182 6,141 6,958 6,408| 77,611  70.9 33.7
i L Ed | 5,103 5,264 5,576 4,997 4,557 4,340 5,519 5,726 5,456 5,347 5,775 6,323| 63,983  58.4 27.8
N it 7] & 100 124 117 65 131 158 188 192 151 220 119 176l 1,741 1.6 0.8
/N #H 11,935 12,206 12,232 12,031 11,703 10,154 12,508 11,310 11,789 11,708 12,852 12,907| 143,335 130.9 62. 2
R 196 193 331 271 414 361 338 207 175 258 253 330 3,327 3.0 1.4
B I &l 1,712 1,782 1,588 2,285 2,069 2,038 1,544 1,229 872/ 1,574 1,301 1,974f 19,968 18.2 8.7
1 % = 206 317 140 211 166 173 253 85 210 94 83 155 2,093 1.9 0.9
I ik = 188 200 214 220 92 73 138 154 91 82 48 75| 1,575 1.4 0.7
o iF ik ey 730 411 741 779 502 421 569 397 523 325 488 463|| 6, 349 5.8 2.8
O R OW M & 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0 0.0
. AOROB A 0 16 29 5 21 0 0 42 102 0 14 1 230 0.2 0.1
s fie iy 542 413 505 296 245 295 199 357 294 69 200 281l 3,626 3.3 1.6
e ML & 523 307 468 436 471 235 5921 1005 509 670 545 339|| 6,100 5.6 2.6
Bl Tk W W R & 0 0 0 0 0 4 77 111 131 146 130 242 841 0.8 0.4
w® ok & 90 85 97 70 66 85 114 33 113 54 54 46 907 0.8 0.4
O N 3 841 1104 970 762 574 612 1033 880 892 903 841 1162 10,574 9.7 4.6
£ BRI ORE RO B & 620 460 418 246 320 362 367 328 324 418 384 498|| 4, 745 4.3 2.1
/I FH 5,648 5,288 5,501 5,581| 4,940 4,589 5,224 4,828 4,236 4,593 4,341 5,566[ 60,335 55.1 26. 2
3 BRI R 9RO B & 646 673 1065 831 614 671 1008 555 748 826 551 1,136] 9,324 8.5 4.0
B L iy 166 159 35 21 128 158 24 67 50 22 29 29 888 0.8 0.4
o T S iy 6 18 0 2 12 3 6 0 0 0 0 0 47 0.0 0.0
R 43 3 14 0 0 0 2 23 0 21 21 35 162 0.1 0.1
Jore | W T £ 1711 1821 1501 1508 1350/ 1289 1270 931 1193 1336 1422 846| 16,178  14.8 7.0
I 2,572 2,674 2,615 2,362] 2,104 2,121 2,310 1,576 1,991 2,205 2,023 2, 046| 26,599 24.3 11.6
& &t 20, 155 20, 168] 20, 348 19,974 18, 747 16,864 20, 042| 17, 714| 18,016 18,506 19,216 20, 519| 230, 269 210 | 100.0
— SRS H 224 217 226 215 202 187 216 197 194 199 221 221 210
(1H )
] ¥, A B[ 161 121 171 1330 190 214] 129 78 129 105 115/ 122 1,668 5
_ (HAH7 - )
H Hl ST -
G b 4 5 6 7 8 9 10 11 12 1 2 3 T IN ng1E|Iiéj
1 N 1 H & 7= V[g824.8 809.9 [748.8 828.2 798.7 791.4 893.5 [767.4 [726.6 [872.6 823.8 742.4 61, 137, 609 802. 3
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8 A\ S f58) (HpL 2 N)
H ?J” INZ Y S
i 4 5 6 7 8 9 10 11 12 1 2 3 aF H Y
BRI 34 42 36 45 37 44 53 33 34 53 44 39 494 41.2
BE R 993 1 B 3 1 1 2 1 3 2 2 1 3 2 4 25 2.1
BRI + A DFE 0 4 3 2 1 0 0 0 0 1 2 1 14 1.2
B ORI AT - %R 15 11 7 16 12 20 19 14 13 10 9 15 161 13.4
ith R 5 5 7 0 3 0 3 1 5 0 4 4 37 3.1
JHF g 0 4 0 1 0 1 0 0 1 0 0 0 7 0.6
fRZEZR - fBA 0 0 0 0 1 1 0 1 0 0 1 1 5 0.4
N 0 2 1 2 1 0 0 1 0 4 3 0 14 1.2
B M 5 5 13 9 10 11 8 12 15 9 7 11 115 9.6
AL TR 2 0 2 4 1 4 4 6 1 3 4 2 33 2.8
KRG 4 £ 5 1 10 6 6 3 8 9 6 4 4 7 69 5.8
B« + RS 0 1 3 0 0 1 0 2 1 1 1 0 10 0.8
L Ny 2 3 2 0 1 1 1 1 0 1 4 2 18 1.5
BEHRAE RIS 0 0 0 0 0 0 0 0 0 0 1 0 1 0.1
RIETHT - R 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
e L /3653 il FR 0 0 1 0 0 1 1 2 0 2 1 1 9 0.8
JE B L E 5 0 2 2 3 1 3 4 3 2 2 1 28 2.3
e it 2 0 1 0 3 0 1 0 0 1 0 1 9 0.8
JE A il B 1 0 0 1 0 0 0 0 0 0 0 0 2 0.2
IR + = PR R IfE 0 1 0 0 1 1 0 0 1 0 1 0 5 0.4
s NI DN 1 0 0 0 1 0 0 0 0 1 0 1 4 0.3
7 a— 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
RFRH £ 0 0 1 0 0 0 0 0 0 0 0 0 1 0.1
NI/ 0 0 0 0 0 0 0 0 1 2 0 1 4 0.3
EAREE - PR AACRIRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
Z D 1 1 0 1 1 2 1 2 1 0 5 4 19 1.6
RS A E 81 81 90 91 83 94 104 90 33 97 95 95 1084 90. 3
A FH R B BRI S 2 1 1 8 4 4 7 1 3 3 3 4 6 45 3.8
REEBT T 4 FH AR BIBRAIT /< 2 4 1 0 0 0 0 1 0 1 7 0.8
EEX AV 1 1 2 1 2 1 2 2 1 4 2 4 23 1.9
MEEST T REFEAE R/ < 2 17 10 11 16 6 11 5 13 16 6 11 13 135 11.3
RGeS T A SE R LT < R 2 1 0 1 3 0 2 4 0 0 0 3 16 1.3
[H7 0 ] BEPEBE AL ZEHE g < = 1 0 0 0 2 0 1 0 0 0 0 0 4 0.3
ERCP/~ X 1 3 0 1 2 3 3 1 1 0 1 3 19 1.6
JHF M R B BRI~ < A 0 2 0 0 0 2 0 1 0 0 0 5 10 0.8
HRREME T B BR AR - < 2 1 2 0 1 3 0 5 2 3 2 4 2 25 2.1
FAESE S I B BR AT 2 < 2 0 0 0 0 0 0 2 0 0 0 1 2 5 0.4
AR I BIBRAT S A 0 0 0 0 0 0 0 0 0 1 0 2 3 0.3
+ R G FLEE B BRAT /S R 0 0 0 0 0 0 0 1 2 0 0 0 3 0.3
IAE 2 R 0 P I B B < R 1 0 0 0 0 0 0 0 0 2 0 0 3 0.3
5 PAZE S A 3 0 0 0 0 1 3 3 1 2 1 0 14 1.2
Ak~ PSSR 0 0 2 0 0 0 0 0 0 0 0 2 4 0.3
FEEEE AL (RAFEOERIE) (R 0 0 0 0 2 0 0 0 0 0 0 0 2 0.2
KIGHEAT A5 B BIBRAT /< A 1 1 0 0 2 3 0 0 0 0 2 0 9 0.8
KRG 2 5 B BIBRAT /< A 1 1 2 0 0 0 0 0 0 0 0 0 4 0.3
TG ARAE Rl 5 B BRAT < A 0 2 0 1 0 0 0 1 0 2 0 0 6 0.5
B N5 Rl 7 BIBRAIT /S 2 1 2 2 0 1 0 1 0 0 0 0 0 7 0.6
NEWEBT T #6153 B BRAT /< 2 11 4 1 2 0 1 1 2 2 1 7 3 35 2.9
NEWEST T 115 AiT 7 BIBRAT /< 2 0 0 2 0 0 6 4 3 5 1 0 2 23 1.9
WS e8I AR AT BT 7 BB /X 2 0 0 0 1 3 0 0 2 0 0 0 1 7 0.6
ARAT P A T A T/ < A 2 0 0 0 0 0 0 0 2 0.3
FFBhIRZE AR 1L/ S A 3 1 7 5 2 5 5 3 0 0 0 0 31 2.6
FFARR A =7 n/ i8N /S 2 0 0 0 1 0 2 1 1 1 2 3 1 12 1.0
FFNES )7 5F /i S A 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
TAT=a-VE /XA 2 0 0 3 4 2 2 2 1 0 1 1 18 1.5
DM/ S 2 7 7 18 17 17 10 6 13 7 7 7 11 127 10.6
PEG/ S A 1 0 1 2 0 0 0 1 0 0 0 0 5 0. 4
AT IR 0 0 0 1 2 1 0 1 1 1 1 2 10 0.8
PTCA/ A 4 0 2 3 1 2 3 0 2 4 4 2 27 2.3
T RERS T i RIBERT /< 2 2 2 4 2 5 3 4 4 4 1 3 4 38 3.2
FIERE AR T AT 2 < 2 0 0 0 0 0 1 1 0 0 2 0 0 4 0.3
7V =V RAFEE LR 61 40 62 66 64 61 52 63 50 42 52 70 683 57.2
BRI ELHE bR 575 23 41 27 36 34 30 38 26 11 37 18 35 356 29.7
NG RIIE L e 10 10 17 6 5 6 9 3 7 6 5 6 90 7.5
BRI E] & £ £ 10 5 7 8 10 2 13 13 10 11 15 4 108 9.0
NG RIIERE U 7 10 7 6 5 6 4 6 4 1 5 8 69 5.8
NG RIIE A e 8 4 7 1 4 5 3 4 2 3 2 2 45 3.8
ABER A ENE B & 7 11 4 2 0 3 5 3 3 4 5 4 51 4.3
ABERERI R 9) & 4 1 4 0 2 3 14 2.3
ARl aTe st ar 65 81 69 59 58 52 72 55 37 62 50 59 719 59.9
R ERBE RS 26 35 35 32 35 30 26 31 17 21 27 35 131 26.2

(H= - 5K)

BRI 0 0 0 12 0 0 0 15 0 0 8 0 35 2.9
BARFRAESN K 7 7 8 7 15 8 7 12 4 11 14 13 113 9.4
FEBLZE 0 0 4 2 0 6 0 9 0 3 0 12 36 3.0
FELIEE 6 2 6 6 5 7 5 4 8 7 8 5 69 5.8
i o i 246) 246/ 274 275/ 260 258 266 279 199 243 254 289 2739 228.5
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